TERB_FHRRFLS] SEER

[5) 45 S5 A -
OEZFEMMEESUTREMEEARR, TERIFSESEHENET

QBT ERRAMBEMABIER. FEAEMR, F1EEEREAHRFER, 25548
MAREEI 1 57
—\ JEFERR ($£30 47)

s SEEREAI NS5
7 A B C D
1 3 0 0
2 0 3 0 0
3 0 0 0 3
4 0 3 3 4
5 0 4 0 0
6 1 2 3 4
7 2 2 4 0
8 4 2 5 3
—. EFEm (FE1645)
JiR= SEER e =
9 0.206. 15000 2154, L34
10 5 29
ZRWEE 57° , PEEJER ELA 1806
. iﬁ . faRE. BEEE 14
— Y.
R 33° . BRESERER 1806 39
KAk
12 W T 2 43
(1) A5, BT B 1.5%9, L3y
)
SRR H A G PR
EEB(JIE,‘[@ .................. ﬁ
g
MBI n K TE 7T 5
3 | D BEGEAREAME
Ik, AW AS L2 3 4%
@ MBE Ky 4 KB IE 7T 5
Bsv T FEGE—ASNETHA,
AR AT AR Ak ?
OMKTEE A 2 JHA. 3 JE K.
4RI KITRTIS (B D b
HUE—A/INE 7k, R s

TR SHEER B 10 G470



o
DM W N
. REBFE?
55
PR RS (L R B
SRR A R 02 5
= HEE (H16 )
HE BEER Was%
1
| g CERTRERAERN) i 5
10
5| CHRRARRGER) 1%
3
16 = SRR ER ) 1%
3
17 = CHRARRAA 1%
M. f5TE (38 %)
L SEEE Was%
18 X=6 4 4y
3
19 x:gﬁa6 45y
Fi. fRRERE (30 43)
BT | Al SEERRTASE
w | 5p |FXEZEROD 59 IR, TSR 3 4
LT 290 K, R4

= reeerereses 4 7y (B XIER, TR EEAST 3 70D

1 21 1 1
— <<= <= ARUKEEEAR AN 1 S ERHRR 0 2 EEES
21 540 | 25 100 4 2 R "
WA
Tk
%Hﬂfﬁ}iﬁ@ﬁ{i, ﬁ%%%}i ......................................................... 4%
é:nkl/k\,l—_EEﬁ ................................................................................. 1%
G FE R SE BB 043D
X 4 X X X 9= SZTANEY) veeeeccccees AN
o0 g a |97AX2TIXI12 2=288 CFIrK) 6%

BIXIEH, TR RIS 4 )

TERHEAHS] BHEER H20 Ot4

=
A



2, TR 5y
CGURIE, IHHHR R BRI 2 )

23

(D

S8

RNE BB EAEL weeeeeeee (%)
B P4 i B e R HL Il veeeennneenns 2 4%

Blan: CFRIE: SINZERANEA S InFE A =36 A,
SN NE =S A N 2
1 P Rk i O
}—aﬁwk
= 00
I SRR R, HITFEFI IR eeeeeeeeeeeee 297

(2)

S

ff: WSIFRE/ANLAE XN, SINEE NI 2X Ko weeeeeeeees

X+2X =36
3x=36
Xx=12
2x=2x12=24
% ZINFRE/NERA 12 N, SINEENRA 24 N
O fETH ST e A S A NAS 3 70

24

(D

P

i

14X 15X6=1260 (cm’)

5XT7X3=105 (cm’)

1260+105=12 (fL)

% W& Z LR 12 g,
Tk

14+7=2

15+5=3

6+3=2

2X3X2=12 (f)

% WU &R Z TR 12 g,
CRERIEH, THEHR P ETE 3 )

(2)

S

TERFHEAEN] ZHEER H3 W G470




BEAE 34
6 @)gj@ 7 @.Eﬁ%%ﬂfﬁﬁ ..................................................................
filan: 6 6L (F5amE KD
17+7~2 15+5=3 4+3~1  2X3X1=6 (f1)
17+5~3 15+7~2 4+3~1 2X3X1=6 (1)
fltn: 74 (EE. RE. D
4>3, ﬁﬂg%wxwiﬁﬂ%%ﬁ%/}%\ TX5 OrEl, IO

5 7
7 )
)
7
)

TERHEAEN] ZHEER H4 G470




